ITEM |PART NUMBER DESCRIPTION SUPPLIER/MADE FROM PRICE | QTY. TOTAL

1 J1U9E3 ULTIFAKER 2 GO FRAME ASSEMBLY 1 $ -
1.1 | 1U9E3-A BACK PANEL ME - 1/4" ACRYLIC $ 9.42 1 $ 942
1.2 | 1U9E3-B LEFT PANEL ME - 1/4" ACRYLIC $ 9.42 1 $ 942
1.3 [ 1U9E3-C RIGHT PANEL ME - 1/4" ACRYLIC $ 9.42 1 $ 942
1.4 | 1U9E3-D BOTTOM PANEL ME - 1/4" ACRYLIC $ 9.42 1 $ 942
1.5 | 1U9E3-E TOP PANEL ME - 1/4" ACRYLIC $ 9.42 1 $ 942
1.6 | 1U9E3-F FRONT PANEL ME - 1/4" ACRYLIC $ 9.42 1 $ 942
1.7 | 92095A184 M3 x 0.5 x 16MM BHCS (100 PCS) MCMASTER $ 8.85 1 $ 885
1.8 | 90695A033 M3 X 0.5 THIN NUT (100 PCS) MCMASTER $ 3.10 1 $ 3.10

2 11156 Z AXIS ROD SUPPORT ME - 1/4" ACRYLIC $ - 2 $ -

3 [Z AXIS ASSEMBLY Z AXIS ASSEMBLY 1 $ -
3.1 [ 1720 Z AXIS SUPPORT BASE ME - .160" 6061 ALUMINUM | $19.66 1 $ 19.66
3.2 | 1722 ACRYLIC BED SUPPORT ME - 1/16" 6061 ALUMIMUM | $ 9.28 1 $ 9.28
3.3 | 8476K15 BOROSILICATE GLASS PRINT BED MCMASTER $12.63 1 $ 12.63
3.4 | 90368A150 METRIC KNURLED KNOB MCMASTER $ 1.67 3 $ 5.01
3.6 | 92095A185 M3 x 0.5 x 20MM BHCS (50 PCS) MCMASTER $ 5.13 1 $ 513
3.7 | 94125K612 15MM x 9.25MM x 1.25MM SPRING MCMASTER $10.36 1 $ 10.36
3.8 | LMK12LUU FLANGE MOUNT 12MM LINEAR BEARING ROBOTDIGG $ 5.60 2 $ 11.20

4 |7804K147 688-2Z FLANGED BALL BEARING MCMASTER $ 7.15 8 $ 57.20

5 [6112K45 8MM x 400MM SHAFT MCMASTER $12.12 4 $ 48.48

8 [EXTRUSTION HEADER UM2 V6 HOT END EBAY $79.99 1 $ 79.99

9 |BOOPNEQI7W NEMA 17 STEPPER MOTOR AMAZON $13.99 3 $ 41.97
10 |94669A109 SPACER MCMASTER $ 0.58 8 $ 464
11 |200-2GT-6 6MM x 200 M GT2 BELT ROBOTDIGG $ 0.40 2 $ 0.80
12 16112K42 6MM x 400MM SHAFT MCMASTER $10.67 2 $ 21.34
13 [GT2-6-430 6MM x 430MM GT2 BELT ROBOTDIGG $ 0.75 4 $ 3.00
14 12689 NEMA 17 LINEAR STEPPER 18 CM POLOLU $46.95 1 $ 46.95
15 |94669A105 4.5MM x 10MM X M3 SPACER MCMASTER $ 041 4 $ 164
16 |BOOUBWSMKC 125V 250V 5A SPDT MICRO SWITCH (20 PCS) AMAZON $ 7.91 1 $ 7.91
17 |BOOELOSTIA POWER SOCKET (10 PCS) AMAZON $ 494 1 $ 494
18 |BOLAAAMPYS UNIVERSAL DC POWER SUPPLY 15 A AMAZON $17.99 1 $ 17.99
19 |BO08X10YRC ROCKER SWITCH (5 PCS) AMAZON $ 4.17 1 $ 417
20 [GT2-20T-8B-6-TW DOUBLE GT2 PULLEY 20 TOOTH 8MM BORE ROBOTDIGG $ 2.00 1 $ 2.00
21 |GT2-20T-8B-6 GT2 PULLEY 20 TOOTH 8MM BORE ROBOTDIGG $ 2.00 8 $ 16.00
22 |GT2-20T-5B-6 GT2 PULLEY 20 TOOTH 5SMM BORE ROBOTDIGG $ 1.80 2 $ 3.60
23 [6112K52 12MM x 500MM SHAFT MCMASTER $16.07 1 $ 16.07
24 |UM2Extruder PLASTIC BOWDEN EXTRUDER HOUSING ROBOTDIGG $ 9.00 1 $ 9.00
25 [BO15NDAKE4 RAMPS 1.4 2004 LCD CONTROLLER AMAZON $18.85 1 $ 18.85
26 [92095A186 M3 x 0.5 x 25MM BHCS (50 PCS) MCMASTER $ 6.13 1 $ 6.13
27 |[UM2 CARRIGE 6MM LINEAR GUIDE BLOCKS FOR HOTEND ROBOTDIGG $ 1.80 4 $ 7.20
28 [PBSB08 8MM x 11MM x 30MM BEARING ROBOTDIGG $ 0.70 4 $ 2.80
29 [TBTS001-6 TIMING BELT TENSIONER ROBOTDIGG $ 0.15 4 $ 0.60
30 [91116A120 M3 WASHER (100 PCS) MCMASTER $ 2.63 1 $ 263
31 [JRB6-2 JUMP RING BUCKLE ROBOTDIGG $ 0.30 1 $ 0.30
32 |[UM2GEAR UM2 FILAMENT DRIVE GEAR ROBOTDIGG $ 2.50 1 $ 250
33 162577 FILAMENT DRIVE GEAR BEARING ROBOTDIGG $ 4.00 1 $ 4.00
34 [BOOXDSI76U PIXNOR 3D RAMPS 1.4 CONTROLLER AMAZON $10.96 1 $ 10.96
35 |BO0OGD423KC ARDUINO MEGA AMAZON $11.99 1 $ 11.99
36 [BOOHSF65MC COOL WHITE LED LIGHT STRIP AMAZON $ 6.99 1 $  6.99
37 |BOOMQR93QC A5988 STEPSTICK DRIVERS (5 PCS) AMAZON $ 7.89 1 $ 7.89
38 [BOOC8U84NO SD CARD SOCKET AMAZON $ 6.70 1 $ 6.70
39 |BOOAYCONS8Y DUPONT 20CM FEMALE TO FEMALE WIRES (100 PCS) AMAZON $ 6.20 1 $ 6.20

TOTAL= $625.17




